‘;.Jf; SIS

(0171584

(3+7) + f0(3+A):= O
J(2-3) + 20]: O
S

\z.3 = i,«f,’ﬂ;\

bl lhoa ..
Xot) = 4u

= - 22

Yoo = ({#v) U

I

N-N-3 9

ANE -4y

(N;g)(n z“N'ZZ)




B A e 1S )RR e B0+ < SR i BT Sl

—

/ \/. 3 l o 8‘([ 72@497 va/LB C@»{&oéwfw I/ULW',aJis;vwcﬁwxﬁx/
; !

> 1)
@ n
pe s X i
vy K i

(2l e der g 0 ] 0
e Oyl .’ w1 O u,|
Wl o o 9 |0 Ok
%] (K 0 K 0] [0 ]

ACZOM av ,w&ﬁy\rdjmw 2

I t L " £ 7 wilrr 7
- >\4 — (K//Ml + (/Mz)\)\ -'O > Al /\1-9- _i<v’/r,ﬁg‘:" <,-,y,-,

"«..J‘

j }\!,'Z ZO

| T Jk//mv* K//Mz—\

. XA (W) 7~ Ky < Kal) o+ K, Xo(0) + Ut o

kY ()= Xz (n)

B ) - i a0 = Kooe Ko () + Ur ot

e i;'m,.':,_. V—- K/M\‘l - UI/M_'___’,\} : U'/Ml o5 K/'M‘ 3 Uz/kﬂl

)\tv(ulx\nl 5 K/'m +}\}')

a9







